
SECTION II TM 55-2210-224-24P

Figure 57. Resistor, Headlight and Generator Field



SECTION II TM 55-2210-224-24P

GROUP 10 BRAKE SYSTEM, AIR

FIG. 57 RESISTORS, HEADLIGHT AND
GENERATOR FIELD

1 96906 MS35206-20 SCREWS, 3/8 IN 4
2 96906 MS35338-46 WASHERS, LOCK, 3/8 IN 4
3 96906 MS27183-14 WASHERS, FLAT, 3/8 IN 4
4 CAGE, HEADLIGHT RESISTOR 1
5 96906 MS51967-03 NUTS, 1/4 IN 16
6 96906 MS35338-44 WASHERS, LOCK, 1/4 IN 16
7 96906 MS90725- SCREWS, 1/4 IN. 16
8 LEADS, ELECTRICAL, MAKE FROM, WIRE

14 AWG, TERMINAL, 14-16 AGW, 3/8 STUD
P/N 31900 (89110) REF. DES, FH51A, 1FH52S,
1 FH52V, 1 FH52W, 1 FH52X, FH51 G, RH51 R,
IRH53A, IRH53B, IRH53C, IR53D, RH51T

9 24446 9963653G1 RESISTOR, HEADLIGHT 1
10 LEAD, ELECTRICAL, MAKE FROM, WIRE 8 AWG 1

P/N 9326091 (72915), TERMINAL, 8 AWG,
STUD, 1/4 IN P/N 32417 (89110) REF DES, JU

11 24446 49A2933G1 RESISTOR, GENERATOR FIELD 1

END OF FIGURE

(5)

QTY

(4)

DESCRIPTION AND USABLE ON CODE

(2)

FSCM

(3)
PART

NUMBER

(1)
ITEM
NO.

57-1


